

C Alexey A Bykov, 20 oct 2003 boombook@yandex.ru

Collocation method for the electromagnetic scattering problems

A.A.Bykov 2002

$$N := 27 \quad N2 := N \cdot 2 \quad n := 0 \dots N2 \quad j_n := n - N \quad M := N2 + 1$$

$$\lambda := 0.8 \quad T := 1 \quad k_0 := \frac{2 \cdot \pi}{\lambda}$$

$$\varepsilon_1 := 1 \quad \varepsilon_2 := 7.5 \quad k_1 := k_0 \cdot \sqrt{\varepsilon_1} \quad k_2 := k_0 \cdot \sqrt{\varepsilon_2} \quad \phi \equiv \frac{0}{180} \cdot \pi$$

$$\mu := k_1 \cdot T \cdot \sin(\phi) \quad t_n := \frac{\mu + 2 \cdot \pi \cdot j_n}{T} \quad \gamma_{1n} := \sqrt{k_1^2 - (t_n)^2} \quad \gamma_{2n} := \sqrt{k_2^2 - (t_n)^2}$$

$$\gamma_1^T =$$

	3	4	5	6	7	8
0	150.592i	144.3i	138.007i	131.713i	125.418i	119.122i

$$\gamma_2^T =$$

	0	1	2	3	4	5
0	168.277i	161.941i	155.6i	149.255i	142.904i	136.546i

$$\alpha := 0.0008 \quad f(x) := \alpha \cdot \cos\left(2 \cdot \pi \cdot \frac{x}{T}\right) \quad ff(x) := \frac{d}{dx} f(x)$$

$$K := 2 \cdot N \quad k := 0 \dots K \quad \xi_k := T \cdot \frac{k}{K + 1} \quad \psi_k := f(\xi_k) \quad i := \sqrt{-1}$$

$$nnnx_k := \frac{-ff(\xi_k)}{1 + ff(\xi_k)^2} \quad nnny_k := \frac{1}{1 + ff(\xi_k)^2}$$

$$P1_{k,n} := e^{i \cdot (t_n \cdot \xi_k + \gamma_{1n} \cdot \psi_k)}$$

$$P2_{k,n} := nnnx_k \cdot i \cdot t_n \cdot e^{i \cdot (t_n \cdot \xi_k + \gamma_{1n} \cdot \psi_k)} + nnny_k \cdot i \cdot \gamma_{1n} \cdot e^{i \cdot (t_n \cdot \xi_k + \gamma_{1n} \cdot \psi_k)}$$

$$Q1_{k,n} := -e^{i \cdot (t_n \cdot \xi_k - \gamma_{2n} \cdot \psi_k)}$$

$$Q2_{k,n} := -nnnx_k \cdot i \cdot t_n \cdot e^{i \cdot (t_n \cdot \xi_k - \gamma_{2n} \cdot \psi_k)} + nnny_k \cdot i \cdot \gamma_{2n} \cdot e^{i \cdot (t_n \cdot \xi_k - \gamma_{2n} \cdot \psi_k)}$$

$$B_n := 0 \quad B_N := 1 \quad C_n := 0$$

$$G1_k := -1 \cdot \left[\sum_n e^{i \cdot (t_n \cdot \xi_k - \gamma 1_n \cdot \psi_k)} \cdot B_n \right] + \sum_n e^{i \cdot (t_n \cdot \xi_k + \gamma 2_n \cdot \psi_k)} \cdot C_n$$

$$G2_k := \sum_n \left(-nnnx_k \cdot i \cdot t_n + nnny_k \cdot i \cdot \gamma 1_n \right) \cdot e^{i \cdot (t_n \cdot \xi_k - \gamma 1_n \cdot \psi_k)} \cdot B_n + \sum_n \left(nnnx_k \cdot i \cdot t_n + nnny_k \cdot i \cdot \gamma 2_n \right) \cdot e^{i \cdot (t_n \cdot \xi_k + \gamma 2_n \cdot \psi_k)} \cdot C_n$$

$$AA_{k,n} := P1_{k,n} \qquad xAA_{k,M+n} := Q1_{k,n} \qquad xAA_{M+k,n} := P2_{k,n} \qquad xAA_{M+k,M+n} := Q2_{k,n}$$

$$BB_k := G1_k \quad xBB_{M+k} := G2_k$$

$$G1^T =$$

	0	1	2	3
0	-1+6.283i·10 ⁻³	-1+6.242i·10 ⁻³	-1+6.12i·10 ⁻³	-1+5.918i·10 ⁻³

$$G2^T =$$

	0	1	2
0	0.049+7.854i	0.049+7.854i	0.048+7.854i

$$BB^T =$$

	0	1	2	3
0	-1+6.283i·10 ⁻³	-1+6.242i·10 ⁻³	-1+6.12i·10 ⁻³	-1+5.918i·10 ⁻³

$$Sol := AA^{-1} \cdot BB$$

$$Sol^T =$$

	0	1	2
0	0	0	0

$$A_n := Sol_n \qquad D_n := 0 \cdot Sol_{0M+n}$$

$$A^T =$$

	0	1	2
0	0	0	0

$$D^T =$$

	0	1	2	3	4	5	6	7	8	9
0	0	0	0	0	0	0	0	0	0	0

$$ma_{n,0} := \left| A_n \right| \qquad md_{n,0} := \left| D_n \right| \qquad ma_{n,1} := \gamma 1_n \qquad md_{n,1} := \gamma 2_n$$

$\mathbf{ma}^T =$

	0	1	2	3	4	5
0	0	0	0	0	0	0
1	169.464i	163.174i	156.883i	150.592i	144.3i	138.007i

$\mathbf{md}^T =$

	0	1	2	3	4	5
0	0	0	0	0	0	0
1	168.277i	161.941i	155.6i	149.255i	142.904i	136.546i

$$\sum_n \operatorname{Re}(\gamma_{1n}) \cdot \left(\left|A_n\right|\right)^2 + \sum_n \operatorname{Re}(\gamma_{2n}) \cdot \left(\left|D_n\right|\right)^2 = 7.854$$

$$\sum_n \operatorname{Re}(\gamma_{1n}) \cdot \left(\left|B_n\right|\right)^2 + \sum_n \operatorname{Re}(\gamma_{2n}) \cdot \left(\left|C_n\right|\right)^2 = 7.854$$

$$u1(x,y) := \sum_n \left[A_n \cdot e^{i \cdot \left(t_n \cdot x + \gamma_{1n} \cdot y\right)} + B_n \cdot e^{i \cdot \left(t_n \cdot x - \gamma_{1n} \cdot y\right)} \right]$$

$$u2(x,y) := \sum_n \left[C_n \cdot e^{i \cdot \left(t_n \cdot x + \gamma_{2n} \cdot y\right)} + D_n \cdot e^{i \cdot \left(t_n \cdot x - \gamma_{2n} \cdot y\right)} \right]$$

$$u(x,y) := \begin{cases} u1(x,y) & \text{if } y > f(x) \\ u2(x,y) & \text{otherwise} \end{cases}$$

$$N_x := 125 \qquad N_y := 125 \qquad n_x := 0 \ldots N_x \qquad n_y := 0 \ldots N_y \qquad b := \frac{T}{2}$$

$$xx_{n_x} := 3T \cdot \frac{n_x}{N_x} \qquad yy_{n_y} := -b + 7 \cdot b \cdot \frac{n_y}{N_y}$$

$\mathbf{xx}^T =$

	0	1	2	3	4	5	6	7	8	9
0	0	0.024	0.048	0.072	0.096	0.12	0.144	0.168	0.192	0.216

$\mathbf{yy}^T =$

	0	1	2	3	4	5	6	7	8
0	-0.5	-0.472	-0.444	-0.416	-0.388	-0.36	-0.332	-0.304	-0.276

$$U_{n_y,n_x} := u\Bigl(xx_{n_x},yy_{n_y}\Bigr) \qquad V_{n_y,n_x} := \left|U_{n_y,n_x}\right|$$

